Section 3.6 - Tangent, CoTangeh‘r, Secant and Cosecant
*Graphingy = A csc(Bx + C)
Recall 1 y = csc x = 1/sin x > Graph the correspondmg sine wave, then csc from
there ; x-intercepts of sin become asymptotes of csc.

Ex. 1: Graph y = 3 cse(2x) , -2mw ¢ X ¢ 2m. M [F’ Q'E: s I ‘
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*Graphing y = A sec(Bx + C) S+o-+ X = Zh En-f X

Recdll 1 y = sec x = 1/cos x > Graph the corresponding cosine wave, then sec from
there; x-intercepts of cos become asymptotes of sec.

Ex. 3: Gpaph y = 4 sec(-n'x) , -2 ¢ xz¢ 2. ‘/Am(: ‘q J t? I_.: QJ
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*Graphing y = A tan(Bx + C) and y = A cot(Bx + C) .

|A| : distance from horizontal axis at £ period and & period

-A: reflect graph across horizontal axis

Period = /B

Phase Shift = -C/B (Solve Bx + C = 0 to see where I* cycle starts)
Graph 3 Critical Points .
1) Horizontal Intercept (at mid-period) 2) % period amp. 3) % period amp.
Ex. 5: Graphy = 3 tan(nx/2) , -3 < x < 3. —
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